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Question 1 
 

Which two storage connectivity types are most widely used for VMFS datastores? (Choose 

two 

A. iSCSI 

B. FC/FCoE 

C. NFS 

D. CIFS 

E. SCSI 
Answer: A,B 
 
Question 2 
 

A cloud administrator is considering the appropriate solution to automate a hybrid cloud 

deployment. The solution requires a single pane of glass infrastructure management, 

monitoring, health dashboard, orchestration and a self-service portal. Which solution is 

mostappropriatefor this environment? 

A. PSC 

B. Cisco UCS Director 

C. Cisco WC 

D. Cisco Enablement Platform 
Answer: A 
 
Question 3 
 

Which three components are involved the design of Cisco Secure cloud extension? 

(Choose three.) 

A. Intercloud Fabric Extender 

B. Amazon Hybrid Cloud 

C. third party firewall to secure the connection 

D. Amazon Web Services 

E. TLS tunnel, to extend the VLAN 

F. Intercloud Fabric Switch 
Answer: A,C,F 
 

Question 4 

 

Cisco 300-465 : Practice Test 

With when option is the Application Stack-as-a-Service feature available white using 

Designer to design an application stack? 

A. virtual appliance 

B. design mode 

C. key stone 

D. manual appliance 
Answer: A 
 
Question 5 
 

Service providers can use mute tenant data centers to efficiently and economically provide 

cloud services using shared hardware and network infrastructures. Which two options does 

this approach require? (Choose two) 

A. partial segregation of network components by tenant 

B. complete separation of network traffic by tenant 

C. strict access control policies 

D. complete separation of hardware infrastructure per tenant 
Answer: B,C 
 
Question 6 
 

Which large-scale Layer 2 connectivity protocol is best (or VLAN address space that is 

limited in large networks? 

A. VXLAN 
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B. OTV 

C. USP 

D. VPN 

E. NvGRE 
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Answer: A 
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